TriraaT 9 YT o R v wril i Wi ) Wiere e v 2 3l 3 % e wfi OMR S vie @) frr dll e 29 4 g 9 7

Candidates should open the seal on the top side of this Booklet and take Booklet No. :
out the OMR Answer Sheet placed between page no. 2 and 3.

‘ﬂﬁﬂgﬁaai -“j@'ﬁl :
STA Tterr Uy-qfeRt/ EXAMINATION QUESTION BOOKLET Test Booklet Series : A
Fruifta oo : 3 92 ( gfeafim sofeant & faa : 4692) Stfireram i : 120
Time Allowed : 3 Hours (For V.H. Candidates : 4 Hours) Maximum Marks : 120
 (a A ERisica:®
Roll No. : Answer Sheet No. :

Tyl o ST § Ueet FreAfeiad Seyil i S 8 ug e | 39 qftent & w3t # fyw ey

Read the following instructions carefully before you begin to answer the questions. This booklet contains questions in English.

Irieanil o fag SreyT Instructions to the Candidates
1. VI % S foraan oy T § T8 o7 5 RUSED F G FF | 1. Before you start to answer the questions you must check up
‘{{ﬁﬁﬁ'ﬂ W T 3o Tﬁ T3 (20) Tam a8 T{;B 1 391 Y1 6H this booklet and ensure that it contains _thg pages (20) and
Sl 8 SR o TSR | Conidates e sl oqired 6 heck it oy have e pe
9 ave

rere 38 T 1 Wl e ﬁ:'?ﬁ%_ fer right question booklet as per the post ap Heg. If yogt? ﬁng
frar &1 afg SalEEl Y H =iE qfe W, @ FHTer 36h aed any dgfectin this Booklet, you must get it rep?aced immediately.
gﬁgﬁﬁﬁlﬁ [ 2. gMR Answer-Sheet will be within the Question booklet. Read
. i 9 39 e instructions printed on OMR Answer-Sheet carefully before
2, Eg\ﬁ_?g ﬁﬁ;’ﬁ:ﬁ? qgégi“ mﬂiﬁé\:ﬁ mﬁl_ £ E:L% filling the information on the OMR Answer-Sheet. Ygu st
FALA : ™ ] complete and code the details as per the instructions given in
ﬂiﬁﬁ@‘m‘iﬁﬂ?mml maﬁmmw-‘\‘ﬁiﬁﬁq the SMR Answer-Sheet carefully. You must also put your
T SR S STIER WEHHE S SoH faer o wie faen = | signature on the OMR Answer-Sheet at the prescribed place
T % IO ARae T H feT@T 3TRY i § et 319 371 T 3R before you actuagy fsutﬁrt answlfréng ?efgiisﬁonﬁ;:h"fhese
2 i ¢ instructions must be fully complied with, failing which, your
I W%ﬁﬁﬂ%ﬁ@ﬁﬂﬂ%ﬂqﬁmﬁl?ﬁam] ' Emaﬁﬂaqmimg OMR Answer-%hgﬁsxji]lllbn%hbe e‘lr)alt%ate . (For V.H.
Fi) gl €, Sl ; candidates these details will be filled in e scribe. However,
FTR-TE 1 Hedlen T foha w1 (gfed sfiean & fou 7e all V.H. candidates must put their iefthond thaimb impression
Tereron e g0 SN | ffv off, it gfedm safiead # el gy | at the space provided in the OMR Answer-Sheet. In addition,
R FE-¥ite A FriRa v W o7 and g1 % 7S w1 e sraw those V.H. candidates who can sign should also put their

T 9ifeul TEE o, 3frean signatures in addition to thumb impression.)
e , < e ST TR | 3 The OMR Answer-Sheet will be in triplicate (Original and
FHHA €, A IS o I % STEET 37 TR ot Y 1) two carbon copies). Candidate has to take one carbon copy
3. 3 O SR IW-Vire A el § St (T e S wiatetyar) | (marked as ‘candidate copy’) with him/her after examination

e GHIRG & AR 3 T 3R 1 el W 991 U e whtery and handover the original OMR along with one carbon copy
it 1 T 35 YT S ST W T A aff | Lo invigilator, If candidates falls fo hancouer fhe orlginal
T/ T § | AfE A ot Iefar Tu e st T/ e OMR along with one ca B ! 7 E3

/ T/ candidature will be cancelled. Further, if the candidate
<l ST/ I IR T S T | A FiE Iefiean s/ tempers with candidate OMR carbon copy and claims for
STt 2Tl ety & foelt +ft wem 1 st o S5 ga e same, in that case also his/her candidature will be cancelled.
FHl © o 39 Tefa & ot sge/suet Seiear i) / 4. This question booklet consists of 120 Multiple Choice
5 / wH I Questions. Each question has 4 (four) alternatives (A), (B),

4, 8 Iv-gfEreR § 120 wgfasmeda v €, Tow u ¥ 4 fawe o (C) and (D). In any case only one alternative will be the

T &, (A), (B), (C) 3 (D) | forst ot feurfa & vl wod o1 e correct answer. In case if y tmzlx ﬁlrlg g‘;’t;esﬁa’[le %“Eﬁggr;‘;‘g
e forehed & HEl e | A oo uw R s fosmey Wl @ A answer, then choose the most SEPIOREE S Pl Cien
el S 3 T faea : e darken the appropriate circle in the Answer-Sheet in front of
i g ﬁ 3 STt A the related question. 2 :
WY % I 1ot ST Tiie! 1 HTell | 5. For each correct answel{‘) 2051\&‘ mz;(rk mjlllll IlJJt'-.' \:ien taI:ljd for
N h i t answer 0. marks wi e educted.
5. omzls ::g"r ;ﬁé ;f:rrq alm;a!:;l e < 37K Ueies et SO e 11 - S;eséré;ogggklet conSiStSdOIf, mtzona"rrts : P.artl f%h: G_Enm;g
. . v o ti nd Part B : Technical (havin
6. WY QR H S AW : W A : G (42 ¥E) SR 9B : (aving & ga‘f;idggszlaas A atiemb bomh m.mmpﬂsfmy_
TEAHT (78 99) | SEHEER H1 A Al % I foam dFEE gl | 7, e Blach/B]ue ball point Pen to darken the circle.  Answer
7. Tl ) Hren O 3 AU Faw wet/ A 9id wEe 99 H =T e | once darkened is not allowed to be erased or altered. Against
T 1 U AR mﬁéﬁaﬁmﬁzﬁmaﬁaﬁaﬂ a—j—qﬁ:{ﬁ any question if more than one cu?]_le is darkened, machine
1 3 e 3 Qe T R TR A | g B R MK et i any case
30 T v 29e faan smom )| 9. No rough work is to be done on the Answer-Sheet. Space for
8. forsit st fearfa & sm-sie w17 O rou, h1 work has been proxiided in this bpolé}et. "
- ! 10. Mobile phones and wireless communication devices a
i %ﬁmﬂ LI s e R g T e com leﬁely banned in the examination hall/roomr:
i ﬁ'ﬁlw%l y ¥ Cangidates are advised not to keep mobile phones/any
10. ﬁWW/WﬁWWWWWW{&W fig el other wireless communication devices with them even
IAICER < S ST fir  weTe & STl & fop Hiaeet i/ foRelt 37 switching it off, in their own interest. Failing to comply with
SR HER GiEE 1 fag oifE 06 of oty g A 7@ | 59 WEEE this provision will be considered as using unfair means in
S T A e 3 e I s ST AT | (b SEENTaton aaC action Wil be aken against them

il fores st Il g e oft 9 € 11. Candidate should not leave the examinati
e i h
1. TSR 7 ST TR -Tite Frlar H G fa si Safer T T without handiing over his/ her Answer-Sheet to the |l 00!
gEer ford o wdien g/ =03 78 Sie 91y, 'p}‘mqg'faﬂ‘:'ftr{ and without signing on the attendance sheet. Failing in
Iy =i =T T smam ) ; doing so, will amount to disqualification.

T O SITYRY B8 1 VIIT 74 Teb We=1—greerapt < @i l/ DO NOT OPEN THE QUESTION BOOKLET UNTILYOU ARETOLD TO DO $0.
Tt ST it T UgeT TE [T & 3 H I T ATeR T | U S o O A IRHEat <Rt T e o ferea o it b ani

I have read and understood the instructions clearly and shall abide by the same. Failure to do so shall made me liable for
cancellation of my candidature.

IAfiEEN W AW/ Name of Candidate : IHigaR % TS/ Signature of Candidate :
famreh / Date : T/ Place :




PART - A
GENERIC AREA

Choose the most appropriate option.

(Q. No. 1 to 42)

'Directions for question number 1 and 2: .
Study the following information carefully and
answer the question :

Group of girls’ gossip with each other. All are
sitting surrounding a round table. The name of
the girls are Shiksha, Radha, Chinu, Snigdha and
Rani. It is not necessary that they are sitting in
the order of the name as mentioned here. Radha -
is second to the right of Shiksha. Shiksha doesn’t
sit with Chinu. Rani is second to the right of
Radha. Radha sits near Snigdha.

1.  Who sits to the left of Shiksha ?
(A) Rani
(B) Radha
(©) Chinu
(D) Snigdha

2.  If Radha and Snigdha change their places
then who will be second to the left of

Rani ?

(A) Radha

(B) Snigdha

(C) Shiksha

(D) None of the options

3. A is the father of B and C is the son of D.
E is the brother of A. B is the sister of C,
How is D related to E ?

(A) Daughter

(B) Brother

(C) Brother in Law
(D) Sister in Law

4. Pointing towards a picture, Ramesh said,

“That picture is of sister of grandson of
father of my maternal uncle”. How is that
. lady in the picture related to Ramesh ? -

(A) Mother's sister
(B) Cousin (maternal brother)
(C) Cousin (maternal sister)

(D) Father’s sister

Directions for question number 5 to 7 :

Two statements followed by four conclusions
numbered from (I) to (IV) are given. You have to
take the two statements to be true even if these seem
to be at variance from the commonly known facts.
Read all the conclusions and decide which of the given
conclusions logically follow from the two given
statements disregarding commonly known facts.

5.  All Shoes are Socks
Some Socks are Gloves
Conclusions :
() Some Shoes are Gloves
(1D) Some Socks are Shoes -
(1ID) All Gloves are Shoes
(V) No Shoes are Gloves

(A) Only (1) follows
(8) Only (1) follows
(C) Only (I follows
(D) Only (IV) follows
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All Boys are Girls 9. Refer the statement and solve the question
No Girl is a Man according to the conclusions.
Conclusions : Statement :
(D No Boy is a Man Some Pigeons are Bird;
(I) Some Boys are Man Some Birds are Alive
(IIT) All Girls are Boys - Conclusion :
(IV) Some Man are Boys (I) Some Pigeons are Alive
(A) Only (I follows (I) Some Birds are Pigeons
(B) ‘Only (T) follows (A) Only (I) follows
(C) All follows (B) Only (II) follows
(D) None follows (C) Both (I) & (II) follows

(D) None follows
All Sentences are Words
All Words are Alphabets 10. Find the number which does not fit into
Conclusions : the series 8 12 20 32 50 68.
(I)  All words are sentences (A) 20
(I)  All sentences are alphabets (B) 32
(II) Al alphabets are words C) 68
(IV) Some alphabets are words (D) 50
(A) Only (I) and (III) follows
(B) Only (II), (II) and (IV) follows 1.5 16 49 104 181
(C) Only (II) and (IV) follows (&) 27
(D) All follows (B) 298

(C) 280
If ‘CONTEMPORARY' is coded (b) 281
‘BODARDSITAND i the code of which
letter ? ich |45 14,28,20,40,32,64,
(A) DOBARDTISAND (A) 52
(B) BODDRASITDNA (B) 56
(C) DOBDRATISDNA © 96
(D) DOBARDSITAND (D) 128
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19. What is the total number of ways to reach | 22. Five people are standing in a row. Aman
13. In a certain code, ‘CONSIDER’ is written | 15. What is the respective ratio between the A to B in the network given ? , is standing next to Karan but not adjacent
as RMNBSFE]J, how is ‘"MONOPOLY’ total number of students taking part in to Tanuj. Radhika is standing next to
written in that code ? Badminton and Table Tennis together and Priyanka who is standing on the extreme
those participating in Basketball and left and Tanuj is not standing next to
(A) LNMNZMPQ Football together ? Radhika. Who are Standing adjacent to
Aman ?
(B) NMNLZMPQ (A) 11:13
(B) 18:19 (A) Radhika and Karan
(©) POPNXKNO ) B) K ; ;
© 19:18 (B) aran and Tanuj
D) NMNLXKNO : i
(D) (D) 29:28 (A) 12 (C) Karan and Priyanka
D) Radhika and Tanuj
(B) 16 )
Directions for question number 14 to 18 : 16. What is the approximate average of ©) 20
) ) number of ici i dball, 23. Find the missi .
Answer the questions on the basis of the following Badminton aﬁ;rgacsﬁaﬂ?:; ;n Han O ind the missing number
information provided : ) (D)
(A) 162
The students of a school participates in B) 163
various sports activities, the distribution of 20. Complete the followi .
the same is given below : © 104 - Complete the following series.
Football - 17% (D) 169 4, 27, 256,_ 3125,
Handball - 26% : _ (A) 46656
17. The number of students taking part in
Badminton - 16% Basketball is approximately Whagt I;ercent (B) 6250 (A) 14
more than th : :
Table Tennis - 229% ose taking part in Football ? , (C) 800000 (B) 10
(A) 10.84% © 9
Basketball - 19% ° D) 1024
(B) 9.92% | (D) 102 D) 3
Total number of students in the school are (C) 9.32% !
800. D N , | |
(D) Nore of the options j 21. Ramesh’s father is a paediatrician. Ra.m’s 24. If 5% income of P is equal to 15% income
| father is a trader. Krishan's fath;l}lis a of Q and 10% income of Q is equal to 20%
. . school teacher. Krishan falls ill. ere income of R. If income of R is ¥ 2000, then
14. What is the number of girls who takg part | 18. If out of the number of students in ‘ sho?ﬁ)d l:ichaet:\er take him ? what are the incomes of P and Q
in handball, if the ;’auo of boys to girls is Basketball, 69 are girls, what is the | respectively ?
3 : 10 respectively ? difference between the ‘ A
. ) umber of boys | (A) to home :
(A) 48 and girls taking part in Basketball ? ¢ (A) ¥ 4000 and ¥ 8000
(A) 17 (B) to school (B) ¥ 12000 and ¥ 4000
(B) 80 B) 23 (C) to Ramesh’s father (€) ¥ 15000 and ¥ 5000
(C) 78 (C) 86 (D) to Ramv's fafher (D) 18000 and ¥ 6000
(D) 160 (D) 14 A/Page 5 SPACE FOR ROUGH WORK STA
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25. A businessman purchases an item at a | 28. How is Y related to O ?
certain price and marks its price up by A Wi
30%. He sells the item at a certain discount (4) €
on markup price and makes a net profit of (B) Sister
4% on the whole transaction. Find the
discount given by businessman on markup (€) Mother
price. (D) Daughter
(A) 10
(B) 15 29. If P has a daughter Q, then how is Q
(C) 26 related to Z ?
(Dj 20 (A) Aunt
(B) Mother
Si
Directions for question number 26 to 29 : (©) Sister
. D) Daugh
Answer the questions on the basis of the data given (D) aughter
below :
O is X’s father 30. Considering 5 as the 1%t element in the
o sequence 5, 11, 23, 47. 'What is the 6t
Y is Z's mother element in the sequence ?
P is O’s mother (A) 191
Xis Z’s sister (B) 172
© 342
26. HowisOrelatedto Z ? (D) 106
(A) Brother
(B) Cousin 31. A Class has 100 students with roll number
O Fath from 101 to 200. All the even numbered
(C) Father :trl;dgr}tg S.tg;l)’ll:h}’Sics, whose roll number
1visible 5 studv Chemi &
D) Uncle .. ) ° study Chemistry
(D) Shldent§ with roll numbers divisible by 7
:ttiiliy Bl°1°g}f’ . tIh‘IOW many students do not
y any s) e oi . . ,
27. How is P related to X ? Chemistry or Biologin subject Physics
(A) Mother (A) 35
(B) Grandmother (B) 45
(C) Sister © 51
(D) Daughter (D) 62
A/Page 6 SPACE FOR ROUGH WORK “STA

32. ¥ 1000 doubled in 10 years when | Directions for question number 35 to 37 :
compounded annually. How many more Relationshi : : .
1y s p between different elements is provided
years w1lld1F ttake tt?? get another X 2000 | ;,, 4, statements. The statements are followed by
compound interest : conclusions. Study the conclusions based on the
(A) 5 years given statement and choose the correct answer.
(B) 10 years
(C) 3years 35. T>=U=V<= W<X;V>=Y
(D) 4 years Conclusions : .
D Y<=T
I U>=X
33. Ram can do a piece of work in 5 days, and )
Sham can do the same in 10 days. With (A) if only conclusion (I) follows
the help of Karan, they finished the work B if .
in 2 days. How many days would it take (B) if only conclusion (II) follows
Karan to do the work ? (C) if neither (I) nor (II) conclusion
- foll
(A) 5 days N .
- (D) if both (I) and (II) conclusions follow
(B) 10 days
(€) 15 days 36. P<=Q<=R>ST>=R;S>=U
(D) 20 days Conclusions :
M T>sS
34. Choose the alternative to decide whether () U<R
the data given in the statements is/are
sufficient to answer the question based on (A) if only conclusion (I) follows
the following information. ‘ (B) if only conclusion (II) follows
Five persons A, B,C, Dand E aré sitting (C) if neither (I) nor (II) conclusion
in a row. Who is sitting in the middle ? follows
Statements ; (D) if both (I) and (II) conclusions follow
(D  Eisto the left of B. _
(IT) Bis in-between C and E. 37. A<=B<C>=D;C<=E<=F
(I) D is in-between E and A. Conclusions :
Choose which of the following will be (D F>=D
sufficient to find out who is sitting in the II) A>E
middle ?
(A) Only (1) and () (A) if only conclusion (I) follows
B) Onl ~ (B) if only conclusion (II) follows
(B) y (II) and (IIT) (©) if neither (I) nor (II) conclusion
(C) Only (1) and (mm) follows
(D) Al (I), (IT) and (IMI) (D) if both (I) and (IT) conclusions follow
A/Page 7 SPACE FOR ROUGH WORK | STA



Directions - Question number 38 to 42 are
based on following information : ’

There are twelve persons named O, P, Q, R, S,
T,U,V,W, X, Y and Z who live in a multi-storey
apartment. The apartment has three floors and
each floor has four rooms. These 12 persons
who live in a set of 12 Rooms can be represented
by a Matrix of 3 rows and 4 columns.

* Qlives immediate left below diagonally of
a person who lives immediate left below
diagonally of T.

*  Slives immediate left above diagonally of
a person who lives immediate left above
diagonally of Z.

* X lives immediate right above diagonally
of a person who lives immediate right
below diagonally of O.

e P lives immediate right above diagonally
of a person who lives immediate right
above diagonally of Y.

e T lives immediate left above diagonally of
a person who lives third to the right of V.

*  Qlivesimmediate left of a person who lives
two rooms below W in the same column.

*  Rlives to the immediate right of a person
who lives immediate right above
diagonally of Q. Z is living to the
immediate left of U who receives ¥ 46000
as salary.

*  The person who live on one of the floors

(left to right) receive salary in the same order
T 50000, ¥ 48000, T 47000 and I 46000.

e  The person who live on one of the floors
(right to left) receive salary in the same
order ¥ 45000, ¥ 38000, ¥ 35000 and
T 40000.

o The person who live on one of the floors
(left to right) receive salary in the same
order ¥ 37000, ¥ 42000, ¥ 36000 and
I 43000.

38.

39.

40.

41.

42.

What is the salary received by a person |

who lives second to the right of S ?
(A) ¥ 35000
(B) ¥ 45000
() 37000
(D) T 38000

Who among the following lives third to the
leftof U ?

(a) ©
(B Q

© T
(D) S

What is the sum of salaries of Y and P ?
(A) ¥ 90000

~(B) 99000
(©) % 93000

(D) ¥ 89000

What is the sum of the salaries received by

the persons living on the top floor of the
apartment ?

(A) T 158000
(B) ¥ 193000
(©) ¥ 157000
(D) ¥ 161000

What is the aggregate salary of people
living at the right end of theerarhIJ;enIt) ?

(A) T 137000
(B) < 134000
(C) T 125000
(D) ¥ 131000

A/Page 8
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PART -B 46. Assume that the SLR parser fora grammar
: G has nl states and the LALR parser for G
TECHNICAL AREA has n2 states. The relationship between nl
‘ . and n2 is :
Ch th t iate option. :
oose the most appropriate option (A) nlis necessaxily less than n2
(Q. No. 43 to 120) '
(B) nl is necessarily equal to n2
(C) nl is necessarily greater than n2
43. In ICMP, in case of time exceeded error, ,
when the datagram visits a router, the (D) none of the options
value of time to live field is
(A) Remains constant
o 47. Which of the following is not a part of the
(B) Decremented by 2 Test Implementation and Execution
Phase ?
(C) Incremented by 1 :
‘ (A) Creating test suites from the test cases
(D) Decremented by 1 , .
(B) Executing test cases either manually
or by using test execution tools
44. Which among the following types of Server (© ‘Comparing actual results
filters Website Traffic ? V
(D) Designing the Tests
(A) POP Server
(B) Database Server :
, _ 48. What is meant by the following relational
(C) Proxy Server algebra statement : STUDENT x COURSE ?
(D) Mail Server (A) Compute the natural join between
' the STUDENT and COURSE
relations
45. (<ALL) comparison operator means : (B) Compute the left outer join between |
(A) " more than the imum value in the thle " STUDENT and - COURSE
subquery naxim relations _ :
B) less than the min in the (©) Compute the cartesian product
®) subquery um value in between the STUDENT and
- COURSE relations
(C) isequivalent to IN .
(D) Compute the outer join between the
(D) none of the options STUDENT and COURSE relations
A/Page 9 SPACE FOR ROUGH WORK STA



49. During exception handling, which of the
following statements hold true ?

(A) Single try can have multiple
associated catch with it

(B) ASingle Catch canhave multiple try
associated with it

(C) Finally block execute only when the
' class is inherited

(D) For a given exception, multiple catch
can execute

50. Some code optimizations are carried out
on the intermediate code because :

(A) they enhance the portability of the
compiler to other target processors

(B) program analysis is more accurate
' on intermediate code than on
machine code
(©) the information from data flow
analysis cannot otherwise be used for
optimization

(D) the information from the front end
cannot otherwise be used for

optimization

51. Givenry, =06, 113= 0.5 and rp3 = 0.8, the
value of ry,3is:

(A) 0.47
(B) 0.40
(C) 0.74

(D) 0.64

52. In case of the dynamic programming

53.

54.

55.

~ accessible

approach the value of an optimal solution
is computed in :

(A) Top down fashion
(B) Bottom up fashion
(C) Left to Right fashion
(D) Right to Left fashion

Which of the following is not true for tree

and graph ?

(A) Atreeisa graph

(B) A graphis a tree

(C) Tree can have a cycle
(D) Treeisa DAG

How many AND, OR and XOR gates are
required for implementation of ful]
adder ?

(a) 1,22
B) 2,21
© 3,22
(D) 3,01

A 26-bit address bus has maximum
memory capacity of

(A) 64 MB
(B) 16 MB
(C) 1GB
(D) 4GB
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56. SRD stands for 61. Find the mode of the following data :
(A) Software Requirements Definition
(B) Structured Requirements Definition Age [0-6|6-12]|12-18|18-24]24-30|30-36|36-42
(C) Software Requirements Diagram Freg- 6|13 |10l e
(D) Structured Requirements Diagram | Y€1y ‘ :
(A) 20.22
57. Which of the following problem is not NP (B) 19.47
complete but undecidable ? (©) 21.12
(A) Partition Problem (D) 20.14
(B) Halting Problem
(C) Hamiltonian Circuit 62. A digital signature is required :
(D) Bin Packing (A) ]fjc;:-:c;gggrudmuon of communication
(B) for all e-mail sending
58. A stack can be implemented using queue, (C) for all DHCP server
but then we need to use atleast : (D) for FTP transactions
(A) 3 queues ‘
(B) 2queues 63. What is the pro’duct of following matrix
(C) only one queue is sufficient ;S‘glgrgitgg%ssen s matrix multiplication
(D) none of the options
NEEE
i le attributes in HTML > 7 62
g s lonown to be (A) Cpy=80; Cyp=07; Cpy=15; Cyy =34
(A) Internal (B) Cy1=82 C;,=26; Cy, =10; C,, =34
(B) Inline (C) Cy3=15;C;,=07; C;; =80; Cp, =34
© Outline (D) C1=26;C;5=10;C5;=82; C,,=34
(D) External 64. Which of the following is a correct time
complexity to solve the 0/1 knapsack
60. Termin the MVC arcﬁitecmre that receives II::::II)ZT ;‘A{here nand w represents the
events is called r of items and capacity of knapsack
respectively ?
(A) Receiver (A) O(n)
(B) Controller (B) O(w)
(C) Transmitter (€) O(nw)
(D) Modulator (D) O(n+w)
A/Page 11 -SPACE FOR ROUGH WORK STA



65.

66.

67.

68.

Finding the location of the element with a
given value is :

(A) Traversal

(B) Search

(C) Sort

(D) None of the options

Peephole optimization is a :
(A) Loop optimization
(B) Local optixrﬁzation
(C) Constant folding

(D) Data flow analysis

Which one of the following statements is
FALSE ?

(A) Context-free grammar can be used
to specify both lexical and syntax
rules.

(B) Type checking is done before parsing.
(C) Highlevel language programs canbe
translated to different Intermediate

Representations.

(D) Arguments to a function can be
passed using the program stack.

Which of the following construct is not
supported by Java Server Pages ?

(A) JSP Directives
(B) JSP Scriptlets
(C) JSP Actions
(D) JSP Reaction

69.

70.

71.

72,

Type of conflicts that can arise in LR(0)
techniques are .

(A) Shift-reduce conflict

(B) Shift-Shift conflict _

(C) Both “Shift-reduce conflict” &
“Shift-Shift conflict”

(D) None of the options

A computer has a single cache (off-chip)
with a 3 ns hit time and d 95% hit rate.
Main memory has a 50 ns access time. If
we add an on-chip cache with a 0.6 ns hit
time and a 98% hit rate, the computer’s
effective access time :

(A) 28ns
(B) 55ns
(C) 07ns

(D) None of the options

CSS property allow to wrap
a block of text around an image.

(A) wrap
(B) push
(C) float

(D) align

Let R=(A, B, C, D, E) having following -
FDs. F={A—-BC, CD-E, B-D, E-A} .

l‘:Vhl;:h of the following is not a Candidate
ey ?

(A) A
(B) B
© E
(D) BC

A/Page 12
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73. Anomalies are avoided by splitting the | 75. The __field in IPv4 datagram is not
offending relation into multiple relations, related to fragmentation.
is also known as .
(A) Flag
(A) Accupressure
. (B) Offset
(B) Decomposition ) TOS
(C) Precomposition © N
(D) Both decomposition & precomposition (D) Identifier
74. What s the output of following program ? | 76 'iI;he default character encoding in HTML5
abstract class Sum - :
( (A) UTF-16
public abstract int sumOfTwo(int nl, int n2); (B) UTE-32
public abstract int sumOfThree(int n1, int n2, int n3); (C) UTF-8
 public void disp(){ (D) ISO-8859-1
System.out.printin("Method of class Sum");
}
} 77. Black Box Software Testing method focuses
class DemoAbstract] extends Sum on the :
( : :
(A) Boundary condition of the software
public int sumOfTwo(int num1, int num?2)
( (B) Control structure of the software
} return num1+num?; (C) Testing of User Interface only
f“buc int sumOfThree(i numl, int aum, it num) (D) Cyclomatic Complexity
return num1+num2+num3;
} . . . -
public static void main(String args{ D{ 78. Which of the following scenarios may lead
Sum obj = new DemoAbstractl(); - _ to an irrecoverable error in a database
System.out.printin(obj.sumOfT wo(3, 7)); system ?
System.out,printin(obj.sumOfThree(4, 3, 19)); . .
obj.disp(); (A) A transaction writes a data item
} after it is read by an uncommitted
} transaction.
(A) 10 . .
26 (B) A transaction reads a data item after
Method of class Sum it is read by an uncommitted
(B) 26 transaction.
10 (C) A transaction reads a data item after
Method of class Sum it is written by a committed
(C) Method of class Sum transaction.
26 (D) A transaction reads a data item after
10 it is written by an uncommitted
(D) Error transaction.
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79. Which of the following algorithms can be | 82. To guarantee correction of upto 5 errors
used to most efficiently find whether a in all cases, the minimum Hamming
cycle is present in a given graph ? distance in a block code must be
(A) Prim’s Minimum Spanning Tree

Algorithm (A) 11
(B 6
(B) Breadth First Search
© 3
(C) Depth First Search
D) 2
(D) Kruskal’s Minimum Spanning Tree
Algorithm
83. Which of the following is correct
recurrence for worst case of QuickSort ?
80. A Software Requirements Specification (A) T(mn)=Tn-4) +T(n—2).+0(1)
~ (SRS) document should avoid discussing
which one of the fo]lowing ? (B) T(n) =T(n_1) +T(O) +O(n) A
(A) User interface issues (©) T(n)=2T(n/2)+O(n)
D) T(n)=4T(n/2)+0O
(B) Non-functional requirements @) Tw (0/2)+O(n)
(C) Design solutions
84. The static keyword word is used in public
(D) Interfaces with third party software static void main() declaration in Java :
(A) To enable the JVM to make call to
the main(), as class has not been
instantiated.

81. In the Model-View-Controlle.r (MVCQC)
architecture, the model defines the (B) To enable the JVM to make call to

the main(), as class has not been

inherited.

(A) Data-access layer _
©) tTI? enable the JVM to make call to
. ’ e main(), as c]

(B) Presentation layer loaded. () as class has not been
(C) Business-logic layer (D) To enal?le the JVM to make call to
the main(), as class has not been

(D) Interface layer finalized.
A/Page 14 SPACE FOR ROUGH WORK STA

85. Which flip-flop is used to make all types | 89. Which of the following Interface is not
of shift registers ? supported by JDBC for connecting to
(A) K flip-flop Database in Java Programming language ?
(B) D flip-flop (A) Statement Interface
(© T flip-flop (B) Prepared Statement Interface’
(D) All the options (C) Callable Statement Interface
(D) Database Interface
86. A minimal super key (i.e, one of the super
keys for which no proper subset is a super | 90. What does <main> include ?
key) is called : (A) Header
(A) Super Key (B) Sidebar
(B) Candidate Key (€) Article
(C) Primary Key (D) Footer
(D) Both Candidate and Primary Key
91. With the following syntax
87. Why does congestion occur 7 INSERT INTO table [(column [, column...])]
(A) Eecaﬁilthe routers and switches VALUES (value [, value..]);
ave tables :
(B)- Because the routers and switches you can : .
have queues (A) Insert one row at a time.
(C) Because the routers and switches (B) Insert multiple rows at a time.
have cross-points (C) Insert one column at a time.
(D) None of the options (D) Insert multiple columns at a time.-
o M = ’ 2, 4, 3 . Bubble :
88. The given a;r?y lso?.:rthe{irray e{ements. 92. If we don’t want to allow a floating div to
sort 1ms uanse . Zs will be done to sort the the left side of an element, Css
How A y pass property will we use.
array
" 4 () margin
® 2 (B) clear
© 1 (C) float
D) 3 (D) padding
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93.

94.

95.

96.

When we perform in order traversal on a
binary tree, we get the ascending order
array. The tree is :

(A) Heap tree
(B) Almost complete binary tree
(©) Binary search tree

(D) Cannot be determined

Shift reduce parsing can also be called as :
(A) Reverse of the Right Most Derivation
(B) Right Most Derivation

(C) Left Most Derivation

(D) None of the options

The router table contains addresses
belonging to protocol(s).

(A) asingle
(B) two
(C) multiple

(D) none of the options

In an undirected graph, if we add the
degrees of all vertices, it is :

(A) odd
(B) even
(C) cannot be determined

(D) always n+1, where n is number of
nodes

97.

98.

99.

100.

Domain constraints, functional
dependency and referential integrity are
special forms of

(A) Foreign key

(B) Primary key

(C) Assertion

(D) Referential constraint

When retrieving data in a particular table
in PostgreSQL, we use the
statement.

(A) \dt
(B) ORDER BY

(C) SELECT FROM

(D) \

A bag contains 10 white balls and 5 blue
balls. A ball is drawn from the bag and its
color is noted. This ball is put back in the
bag along with 3 more balls of the same
color. A ball is drawn again from the bag
at random. The Probability that the first

ball drawn is blue, iven th
ball drawn is blue 151 at the second

(A) 1/3
(B) 3/4
€ 8/9
(D) 4/9

The number of tokeng ; .
C/C'I"'l' statement ise.:ns In the fOllOng

PHNt(“i = %d, &i= %y, i&i);
(A) 9
B) 6
© 10
D) 12
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101.

102.

103.

104.

A/Page 17

What is the time complexity of the
following recursive function ?

int ComputFun (int n)
{
if(n<=2)
returnl;
else
return (ComputFun (floor( sqrt (n))) +n);
}

(A) O(n)

(B) ©(logn)

(C) ©(nlogn)
(D) ©O(loglogn)

You have a network ID of 192.168.10.0 and
require at least 25 host IDs for each subnet,
with the largest amount of subnets
available. Which subnet mask should you
assign ?

(A) 255.255.255.192

(B) 255.255.255.224

©) 255.255.255.240

(D) 255.255.255.248

Consider an array of positive integers
between 123456 to 876543, which sorting
algorithm can be used to sort these number
in linear time ? '

(A) Impossible to sort in linear time

(B) Radix Sort

© Insertion Sort

(D) Bubble Sort

Software consists of

(A) Set of instructions + operating

procedures .

(B) Programs + documentation +
operating procedures

(C) Programs + hardware manuals

(D) Set of programs

105. Assembly line scheduling and Longest

106.

107.

Common Subsequence problems are an
example of

(A) Dynamic Programming

(B) Greedy Algorithms

(C) Greedy Algorithms and Dynamic
Programming respectively

(D) Dynamic Programming and Branch
and Bound respectively *

Changes are made to the system to reduce

the future system failure chances is
called

(A) Preventive Maintenance
(B) Adaptive Maintenance
(C) Corrective Maintenance

(D) Perfective Maintenance

In the given Program :

class Dialog1
{
public static void main(String args[])
{
Frame f1=new Frame("INDIA");
f1.setSize(300,300);
f1.setVisible(true);
FileDialog d=new FileDialog(f1,"MyDialog");
d setVisible(true);
String fname=d.getDirectory()+d.getFile();
System.out.printn("The Selection is"+fname);
}
}

To make the Frame visible, which of the
following statements are true ?

(A) fl.setClear(true);
(B) fl.setVisible(true);
(C) fl.setlook(true);
(D) fl.setclean(true);
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108. Which of the following are two main types | 112. InJava, the Dynamic Array are known as :
of overloading in Java ?
(A) Vectors
(A) Opverloading and linking
o - (B) Cycle
(B) Overriding and linking
C) Remot
(C) Reusability and data-hiding (G Remote
(D) Overloading and Overriding (D) Kubernotos
109. A program P reads in 500 integers in the 113. Consider the following C program
range [0..100] representing the scores of segment. |
500 students. It then prints the frequency o
of each score above 50. What would be while (first <= last)
the best way for P to store the {
frequencies ? if (array [middle] < search)
(A) An array of 50 numbers first = middle +1;
(B) An array of 100 numbers else if (array [middle] == search)
found = True;
(C) An array of 500 numbers else last = middle - 1;
(D) A dynamically allocated array of 550 middle = (first + last)/2;
numbers }
if (first < last) not Present = True;
110. In Java, for ensuring the persistencé The cyclomatlc complex1ty of the program
property, the class must implements : segment is
(A) Serializable Interface (A) 3
(B) Utilization Interface (B) 4
(C) Threadable Interface (C) 5
(D) Recognizable Interface D) 6
111. Encoders are made by three - .
gates. Y 114. Priority queue is implemented by :
(A) AND (A) Doubly link list
(B) OR (B) Graph
(C) NAND (C) Heap
(D) XOR (D) Stack
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115. A recursive problem like tower of hanoi | 119 Let R and S be two relations with the
can be rewritten without recursion using : following schema
(A) stack R (P, Q, R1, R2, R3)
B . . N
(B) pnonfy queue S (P, Q,51,52)
(€) graph |
Where {P, Q} is the key for both schemas.
(D) cycles Which of the followmg queries are
equivalent ?
116. In the context of modular software design, O pR>S)
which one of the followmg combinations
is desirable ? @ Ip ®) ><IIp (5)
(A) High cohesion and high c'oupljng (I IIp(IIp,q R) N Ip o (S))
High cohesion and 1 i .
(B) High cohesion and low coupling (V) Tp @p,q®) — (T, (R) ~ Tp, (5))
C) Low cohesion and high couplin:
©) o gh couplng (A) Only (I) and (II)
D ow cohesion and low couplin
® pling (B) - Only () and ()
e ol (C) Only (I), (II) and (II)
117. In the following addressing mode, which
of them performs better for accessing (D) Only (@), (II) and (IV)
array ?
(A) Register addressing mode 120. In CRC calculation if divisor is 1011, and
(B) Direct ad dressing mode dataword is 1001 what will be the CRC ?
. , A) 111
(C) Displacement addressing mode )
: 101
(D) Index addressing mode ®),
(© 110
(D) 100
118. The LL(1) and LR(0) technique$ are
(A) Both same in power -00o0-
(B) Both simulate reverse of right most
derivation
(€) Both simulate reverse of left most
‘ derivation
(D) Incomparable
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